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The number of bit strinps of length c:g.!' that will either start with a 1 kit or
end with twior hits 00 shall be

(A) 32 (B) o4

(C) 128 (D} 160

In which tree, for every node the height ¢ [ its left subtree and right subtree differ
almost by one 7

(A} Binary search trec (B) AVL trec

(C) Threaded Binary Trce (D) Complete Binary Tree

The graph K34 has !

(A) 3 edges (B) 4 edges

(C) 7 edges D) 12 edges

Let T(n) be the function defined by T(s) = 1 and TG =2T (42) + . which of
the following is TRUE 7

(A) Tin) = O(3n) (B) T(n) = Xlogln)

(C) T(n) = On) M) Tin) = O(n?)

Which of the following permutations can be obtained in the output using a stack
of size 3 elements sssuming that input, sequence is 1, 2, 3, 4, 5 7

(A) 3,2,1,5,4 (B) 5.4.3 2 |
(C) 3,4, 5,2, 1 (D 3,45 1,2

The minimum number of states of the non-deterministic finite automation which
aammﬁr:lmmmge{abaﬁ"lngﬂ}u{aﬁﬂn‘eﬂ}‘g:

(A) 3 (B) 4

(C) 5 (D) 6
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7.

9.

10,

Criven the following sttements

51: SLR uses follow information to guide reductions. In case of LR and LALR
pursers, the look-aheads are associated with the liems and they make use of
the left comext available (0 the parser.

52 ; LR grammar is a larger sub-class of context free prammar as coftipired to
that SLE and LALR grammars.

Which of the following is frue 7

{A) 5! is not correct and 52 is not cormect
(B) 51 15 not comect and 82 s correct
(C) S1 is correct and 52 is nol comect

() Sl is correct and S2 is correct

Back propagation is a leaming technigue that adjusts weights in the pewral network
by propagating weight changes

(A) Forward from souree to sink

(B) Backward from sink to source

(C) Forward from source to hidden nodes

(D) Backward from sink to hidden nodes

Slots and facets are used in :

(A) Semantic Networks (B} Frames

(C) Rules (D) Syntax

What is the size of the Unicode character in Windows Operating System ?
(A) 8-Bits (B) 16-Bits

(C) 32-Bits s (D) 64-Bits

M-1002-Comp. Sc. Engg./IT-A 2
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13.

4.

Big Oh Notation deals with :

(A) Worst Case Analyvsis of Algorithm
(B) Best Case Analysis of Aloorithm
(C) Average Case Analysis of Algorithm

(D) Randomized Algorithmns

Recurrence relation is related 1o :
(A) Time Complexity (B) Space Complexity
{C) Graphs (1) Mon-Deterministic Problems

In the index allocation scheme of blocks to o file, the maximum possible size of
the file depends on :

(A) the size of the blocks, and the size of the address of the blocks
(B) the number of bibcks used for the index, and the size of the blocks

(C) the size of the blocks, the number of blocks used for the index, and the
size of the address of the blocks

(D) Cache memory
A computer system supports 32-bit virtual addresses as well as 32-bit physical
addresses. Sinde the virtual address space is of the seme size as the physical

address space, the operating system designers decide to get rid of the virtual
memory entirely. Which one of the following is frwe 7

(A) Efficient implementation of multi-user support is no longer possible
(B) The processor enche organization ecan be made more efficient now
(C) Hardware support for memery management is no longer needed
(1) CPU scheduling can be made more efficient now

M-1002-Comp. Sc. Engg./IT-A 3 P.T.O.




S/ A CPU generates 32-hit viriual addresses. The page size is 4 KB. The processor

/" hias 1 translation look-siside buffer (TLB) which ean hold a total of 128 poge table
cntrics and is 4-way set associative. The minimum size of the TLB tag is -
(A) 11 bits (B) 13 bits

() 15 bits (D) 20 bits

16. Page faull ocours

“ (A} When a requested page is in memory
() When a requested page is not in memory
(C) When a page is corrupted
(D) When an exception is thrown

17. Thrashing occurs when :

. (A) A page fault occurs

-

(B) Hﬂﬂmnnsjﬂmﬁﬁ;{mﬂjmm_‘nﬂtmmmy
(C) Processes on system are in running state
(D) Processes on syslem are in wailing siate

i8. Hnwmunyi-tn-lﬁmdemdmnﬁﬂammhbeinmumnﬂud;dhmwda
" 60-64 line decoder without using any other logic gates ?

(A) 7 B) &

() 9 ®) 10
l_ﬁi'.lhaﬂﬁdﬂnﬁmuﬁmr}"+:y+:ﬁri:eqﬁmhmm: _
5 (A) x' + ) B) x+y

© x+y T ) ey

M-1002-Comp. Sc. Engg/IT-A 4
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21.

22.

M-1002-Comp. Sc. Engg./IT-A b

Which ure the essential prime implicanis of the lollowing Boolean hmetion

fla, b ¢y=a'c + ge’ + b ;
(A) ac and ac’ (B) a'e and Hc
(C) a'c only (D) @’ and Ao’

Consider o multiplexer with X and Y as dats inputs and Z as control input.
Z = ) selects input X, and Z = 1 selects input Y, What are the connections
required 10 realize the 2-variable Boolean function f = T + R, without using any
additional hardware 7

(A Rto X, Tto Y, Tio & B TwX RtnY, TiaZ

C) Tto X, Rto XY, 0to (D) RioX, 0to ¥, Tto Z

The height of a tree is the length of the longest root-o-leaf path in it. The
maximum and minimum numbers of nodes in a binary tree of height 5 are !
(A) 63 and 6, respectively (B} 64 and 5, respectively

(C) 32 and 6, respectively (D} 31 and 5, respectively.

An algorithm performs (log N)'? find operations., N insert operations,
(log N)¥2 delete operations, and (log N)''2 decrease-key operations on a sel of
data items with keys drawn from a linearly ordered set. For a delele operation, a
pointer is provided to the record thal must be deleted. For the decrease-key
operation, a pointer is provided to the record that has its key decreased. Which
ene of the following data structures is the maost suited for the algorithm o use,
if the goal is to achieve the best total asymptotic complexity mns_idering. all the
operations 7

(A) Unsorted array ; (B) Min-heap

(C) Sorted array (D) Sorted doubly linked list




25.

26,

3

.
Which ane of the following hash {inctions on integers will distribute kevs most
uniformly over 10 buckets numbered 0 1o 9 for i mnging from 0 to 20207
(A hii) = i* mod 10 (B) hii) = i* mod 10
(©) hiiy = (11 * %) mod 10 (D) hi) = (12 * i) mod 10
Given o hash table T with 25 slots that stores 2000 cléments, the load factor o
for T is :

(A) 80 (B) 50

(C) 40 {0y 30

The result evaluating the postfix expression 105 + 606 / * 8 — is -
(A) 284 (B) 213

(C) 142 (m 71

mﬁhaalmmmm:mmmz?ymmugmmium
bytes, record pointer is 10 bytes long and block pointer is 8 byies long, The
maximum number of keys that can be accommedated in cach non-leaf node of
the tree is : X

(A) 40 (B) 50

(C) 60 m 70
maummﬂaﬂsmmﬂ&m:mﬁEWhmmm
connected, undirected praph. The tree T formed by the tree arcs is a daia structure
for computing

(A) the shortest path between every pair of vertices.

(B) the shortest path from W to every vertex in the graph.  *

(C) ﬂ:dtﬂfhﬁpﬂhaﬂmq\?tnmh'thumnndﬁﬂmm]mmufT
(D) the longest path in the graph

M-1002-Comp. Sc. Engg./IT-A 6




29. A priority queue is implemented 5s a Max-Heap. Initially, it has 5 elements. The

1.

level-order traversal of the heap is - 10, 8. 5, 3. 2. Two new elements | and 7
arc inserted into the heap in that order. The level-onder traversal of the heap alter

the insertion of the elements is
(A) 10,8 7. 3.0 1.5 By 10,8 7231 %

(.80 M« By oSS SN0 G TR (D) 10, 8 7,5,3. 2 1

Which of the following options can be used 1o get global minima in k-Means
Algorithm ?

I Try 1o run algorithm for different centroid initialization

2. Adjust number of iterations

3. Find out the optimal number of clusiers

(A) 2 and 3 B) 1 and3

(C) 1and 2 (D) Al of these

What is state space in Al 7

(A) The whole problem

(B) Your Definition to a problem

(C) Problem you design

(D) Representing your problem with variable and parameter

Which of the following techniques perform similar operations as dropout in a
neural petwork ?

(A) Bagging (B) Boosting

(C) Stacking (D) Queue

M-1002-Comp. Sc. Engg./IT-A 7 P.T.C.
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M.

Suppose that vou have to minimize the cost function by changing the parameters,
Which of the following techniques could be used [or this 7 &

(A} Exhaustive Search
(B) Random Search

(C) Bavesian Oplimization
(D) Any of these

In which of the [ollowing applications can we use decp leaming to solve the
problem ?

(A) Protein structure prediction
(B} Prediction of chemical reactions
() Detection of exotic particles
(D) minfﬁ:-:shun

-

35. Out of all the 2-digit integers between | and 100, a 2-digit mumber has to be
“/ selected ot random. What is the probability that the selected number is ot

divisible by 7 7
(A) 13190
(B) 12190
(C) 7890
(M) 7790

Suppose there are 11 jtems in sorted order in an array. How many searches are
r&qﬂr&dun&nmmﬂ,ﬂhiaﬂquﬂchhm?hyﬁdﬂn&ﬂﬂmm
successful in finding the item ?

(A) 3.00 (B) 346

{C) 2.81 (D 333

M-1002-Comp. Sc. Engg./IT-A 8
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37, What is the output of the following program
#include <stdio.h>
intmaing )
i
inti=3:

printf{"¥ed" (+Hj=):

returmi;
'
(A) 3 By 4
(C) 5 (I MNone of these

38, What is the output of the following program 7
#include <stdio b=
mt main|)
{
:im.i=5j=11].lz=_!5:
printfi%ed” sizeof{k/=i+));

printi™%d" k):

return (0,

: ;
(A} 415 v (B) 4 1

(&) 25 Dy 21

M-1002-Comp. Sc, Engg./IT-A 9 P.T.O,
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19, Assume that float takes 4 bytes, determine the outpul of the following program :
 dinclude <sudioh>

int maing)

:lu&tan!_'ﬂ = [1232, 10.7, 13.5, 47.2, 95},

float *ptrl = &are[1];

float *ptr = piel + 3;

printf{"%f ", *ptel)

printi("%d", pir2 — pirl);

return {;

!

(A) 1232 12 (B) 12323
© 1073 o 10712

40, Determiné the output of the following program :
o b -
void f(int *p, int *g)
i
P=1q
‘F'z;
} -
ini=0,j=1
int main{)
i
fldi, &j),
Wmﬂ-r]tﬂé o
retum 0
} L
{8) 22 B 21
€ 01 Dy 02

M-1002-Comp. Sc. Engg./IT-A 10
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41.

42.

43,

The design issue of Datalink Layer in OSI Reference Model is ;
(A) Framing (B) Represemtation of bitg

(€} Synchronization of bits (I Connection control

Data Encryption Techniques are particularly used for -
(A} protecting data in Data Communication Swstem
(B) reduce Storage Space Requircinent

(€) enbances Dota Inteprity

(D) decreases Data Integrity

The technique of temporarily delaying outgoing acknowledgements so that they
can be hooked onto the next outgoing data frame is known as -
(A) Bit stufling (B) Piggy backing

(C} Pipelining (D)  Broadeasting

Encryption and Decryption is the responsibility of  Layer,

(A) Physical (B) Metwork

(C) Application (D) Datalink

What is the propagation time il the distance between the two points is 48,9007
Assume the propagation speed to be 24 » 108 meier/second in cable.

{A) 0.5 ms « (B) 20 ms

(C} 50 ms (1) 200 ms

M-1002-Comp. Se. Engg./iT-A 11 P.T.C.




-u:-f

L"‘w-u-l'l.

4?1-'

L]
Comparing the time T1 taken for a singls instruction on a pipelined CPU with
time T2 taken on a non-pipelined but identical CPU. we can say that ;
(A) Tl = T2
(By T1 >=T2
(Cy T1 <T2
(1) T1 is T2 plus the time taken for one instruction fetch cycle

Assuming all numbers are in 2's complement representation, which of the
following numbers is divisible by 11111011 7

(&) 11100111 (By 11100100

(C) 11010111 (D) 11011011

' How many different non-isomorphic Abelian groups of order 4 are there 7

(A2 B 3

(©) 4 o

What is the cardinality of the set of integers X defined below? X = {n | 1 = #
= 123, n is not divisible by either 2, 3 or 5| 7 F

(A) 28 (B) 33

() 37 (D] 44

ﬂ._tﬂﬁhmuﬂimﬂndgﬂph.ﬂmsidﬂlﬂqﬂh—ﬁmmmalniﬂ.md let T be
" the resulting depth-first search tree. Let u be a vertex in G and let v be the first

new (unvisited) vertex visited after visiting u in the traversal, Which of the
following statements is always frue 7

(A) {mv}mmthemﬂgeinﬂ,mﬂulsadmndmlﬂf'th -

(B) {mv}mﬂhcmaignm&ﬁdvisa&emmdmﬁn'mT

(C) If {uv} is not an edge in G then u is a leaf in T

(L) E{mv]mmmudghGMumdvmhmﬂwnmepmﬂthT

M-1002-Comp. Sc. Engg./IT-A 12
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When a test actually measures what il purpons 10 messure, this charscteristic of
test 15 known ay

(A} Comelation (B) Vahdity

{C) Reliability {13} Variance

The Programmed learning is mor used for -
(A} Teaching {B) Networking
(C) Integrated Learning (D) Evaluating

Education Technology has wuly paved the way for leamer to become -
(A) Aware, epprecistive and equipped

(B) Hopest, wise and aware

(C) Effective, honest and wise

(I} Creative, appreciative and wise.

In the coniext of an educational institution, the curriculum documemt of an
educational programme is a significant

(A} Input (B) Process

(C) Output (D) Feedback

Essential training skills require the skills of (i) design training programme,
(ii) design exercises, (iii) conduct training needs analysis, (iv) evaluate the training
programme and (v) design worksheets. In order of priority and smooth
implementation, what should be work flow 7

(A) i, ii, i, iv, v (B) iii, i 5, v, iv

(C) i, i, v, i, iv (D) i, v, ii, i, iv

The core objective of leaming education technology is to get :
(A) Oriented " (B) Facilitated

{C) Integrated (D) Evaluated

M-1002-Comp. Sc. Engg./IT-A 13 P.T.0.
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Leaming objectives are statemenis that define the expeciad goal of a curncalum,
course. lesson or activity in terms of demonstrable skills or knowledge tha will
be acquired by a student as a result of instroction. What is mast crucial in writing
a learning objective ?

{A) Performance critenon (B) Action verb

(C) Intent of evaluation (13} Teaching method
Measures are arranged in some meaningful manner ;

(A) Discrete data (B) Grouped duta
(C) Ungrouped data (D) Variable data

In order to implement a skill based curriculum effectively, one of the following
Irmﬁpmﬁuumndsmh:nmid:mdmmcmpmhmaiwly:
| (A) Content outline (B) Methods of implementation

(C) Lamﬁnﬁ_uutmm (D) End tenm sssessment

Education technology is integrated in the teaching-learning process by :
(A) Using variety of tcaching methods

(B) Designing new experimentations .
(C) Reinforcement of leaming

(D) Introducing, reinforcing and extending learning experiences.

-"Guglgﬁwlauﬁn;M{ﬂﬁimplhﬂhﬂﬂxdiﬂhemmmmwnﬂmﬁu

lmh:gmhemmnnd'byuﬂjﬁngﬂmmmﬂmmﬁmttpududﬂ
with effective cognitive processes, leamning is easier and new information can be
stored in the memory for a long time. To implemented CLT effectively one has
10 consider predominantly

(A) Behavioural factors of the learners -

(B) Eahﬁnuﬂuuglﬂpﬂmlﬁnmmnfmulmm

(C) Behavioural and environmental factors

(D) Behavioural, personal and environmental factors

M-1002-Comp. Sc. Engg./IT-A 14
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Ihese are first hand expericnce, which serve as foundation of our learning :
(A) Direct purposeful experience

(B} Direct personal engagement

(€] Direct eduestional engagement

(D) Direet educational experience

Operant conditioning can be described as a process that atiempts to modify

behavior through the use of positive and negative reinforcement. Through operant

conditioning, an individual makes an association between & particular behavior

and a consequence. Which of the following is a non-example of operant

conditioning 7

(A) Parents rewarding the student’s excellent grades with some prize,

(B) Students copy & diagram drawn on the board.

(C} A school tcacher awards points to those studenis who are the calmest and
well-behaved.

(D) Students help each other to develop a project defail.

—

A research design is :

(A) A way of conducting research not grounded in theory

(B) The cheice between using quantitative or qualitative method

(C) The style in which you present your research, e.g.- graph

(D) A framework for every stage of the collection and analysis of dats

In an experimental design, the dependent variable is :

(A) The one that is not manipulated and in which any changes are observed

(B] Themﬂmiamﬁpm“adinmdﬁmnhmw:mycﬂ%ﬁsmﬂmuﬂw

(C) A measure of the extent to which personal values afTect research

(D) An ambiguous concept whose meaning depends on how it is defined I




67.

Involves the collection, organisation and aralysis of numerical dats

(A)] Asscssmenl (B} Measurement

(C) Test (D) Statistics

When planning 8 lesson, a teacher can best help ensure that instruction will be

effective and appropriste for students from a wide range of socio-economic

hackgrounds by asking himself or herself which of the following questions ?

(A) Will the lesson include opportunities for interaction aniong students from
different backgrounds 7

(B) Will students have opportunities to ask questions and seck clarification at
various points in the lesson 7

(C) Mtlmmmmmnwmmmmwﬁm
“wkhﬂwﬂhﬂlf-ﬁmmdpwsmhglpprmwlﬂﬁm?

(D) wulth:mcmnplﬂmedmillmmdmpmlnﬁmmhﬁmiﬁm
and televant to students with varied life expenences ?

MWWiniﬂgmhe-:ﬁmﬁwlyuwmﬂhy:

(A) Rating scale (B} Ohservation sheet

(C) Check list (D) Performance diary
Mﬂhmmlmhmmﬂﬁﬁigﬂﬂﬂﬂmﬁﬁmﬂ
mﬂmmhﬂmmdaywmwchnhuﬁmsmmt.hﬁﬁngmﬂ
mpﬂzﬁmﬂﬂmﬂgmﬂmmﬂmmdmdungﬂmmeﬁﬁm
a,uduﬁ'mhmﬂutuFthafulhwmalsnulmﬂﬂnplﬂﬂfE}'mﬁ

(A) Gmﬂmry (B) Systems Theory

(C) Trance Theory (D) Perceptual Control Theory

M-1002-Comp. Sc. Engg./IT-A 16




70. A teacher regularly gives students brief quizzes of three to five questions covering

1.

T2

material taught in the cumrent or preceding lesson. Which of the following is likely

to be the primary benefit of this practice ?

(A) helping improve instruction through ongoing feedback on teaching
ellectiveness

(B) minimizing the amount of re-leaching required for swidents 1o master
curticular content

(€) ensuring that the teacher has adequate performance data to assign students
a fair grade for the class

() enhancing students' engagement in the learning process and recognition of

key learning goals
Consider the deviation each score is away from the mean of the distribution :
(A) Standard deviation (B) Mecan deviation
(C) Median deviation (D) Maximum deviation
Prof. Ramesh and Prof. Suresh collected data on the same set of students using
the same test and find their data 15 almost exactly the same. This indicates test
has : |
{A)} Test-retest reliahility
(B) Inter-rater reliability -
(C) Aliemate forms reliability,

(D} Split balf-reliability

M-1002-Comp. Sc. Engg./IT-A 17 P.T.O,
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74

78!

A Vocational Institute teacher has been planning to have the students in a class

cary oul individual research projects in social selting in which each student would

investigate and report on a sell-selected fopic. The tescher decides insicad to have

the students conduct and teport on their research in groups. The group approach

is likely w be particularly effective for the studems because it

(A) increases the students overall learning efficiency and sense of contribution
during the project.

(B} enables students who usually schieve at varied levels to perform at a level
similar to that of high-achieving peers in the class.

(C) uses (he students’ interest in social interactions to enhance motivation and
increase engagement in the leaming process.

(D) prompts the students to use a greater variety of methods and approaches to
pursue broader, more complex research topics.

%ﬂkwﬂmﬂwmﬂuﬁmlpufmmarﬂﬂlmywﬁndﬂmﬂﬂimw
hasmhﬂtdvﬂmmdlmshmmcmumn@:&w&.'mmmmmmr
valucs nnd choices, begin to arder and prioitise values and choose 10 commit 1o
certain behaviour, In the taxonomy of affective domain, st what level you will
place him 7

(A) Receiving (B) Responding
(C) Valuing (T Organismg

Teachers of science, entreprencurship, and humanities arc planning an integrated

unit on the Industrial Revolution. This instructional approach can be expected 10

enhance student learmning primarily by :

(A) facilitating stdents’ accelerated achievement of content standards in multiple
subject areas.

(B) presenting students with tasks that are responsive to their individual leaming
preferences. =

(C) mmmwmmwrﬂﬁﬁwdmnmﬂmlm
sirategics.

(D) nmmﬁngﬂmsfmnudﬂmhmﬁmﬂmuk:mrMBtmwthmﬁcm
meaningful.

M-1002-Comp. Sc. Engg.AT-A 18
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Outcomes attained after paining skills and knowledge of & course is termed as
(A) Course Outcomes (B)  Programme Ontenmes
(C) Session Cutcomes (D) Progrmmmme Specific Oucomes

Constructivist learning environments require students to utilize their prior
knowledge and experiences to formulate new, related, and/or adaptive concepts
in learning. Under this framework the role of the teacher becomes that of o
fecilitator, providing puidance so that learners can construct their own knowledge.
To construct an effective learning environment, you will :

(A) write the objectives explicitly
(B) develop structured leaming exercises
(C) design evaluation exercises

(D) draw the content outline explicitly

It is seientific and organised teaching-leaming process and or a product -
(A) Instructional Technology (B) Educational Technology
(C) Educational Media (D) Audio, Video & Media Technology

The standard error is a statistical measure of -
(A) The normal distribution of scores around the sample mean

(B) The extent to which a sample mean is likely 1o differ from the population
mean

(€C) The r:.lusl:ring of scores al cach end of a survey scale
(D) The degree to which a sample has been acturately stratified

A self-instructional strategy promotes :
(A) Group dynamics

(B) Focussed group learning

{C) Leaming to learn antitude

(1} Problem solving attitude

M-1002-Comp. Sc. Engg./T-A 19 P.T.O.




81.

One of the following is the best example of a teacher appiying @ constructivist

appreach w student leaming :

{A) A math teacher has ctudents use hands-on materials and real-world problems
to acquire new concepts anid practice skills.

(B) A language ars icacher provides students with a concrete reward each time
they turn in 8 written assignment that is free of errors.

(C) A social studics teacher uses visual gids and 4 logical progression of ideas
when presenting lectures ahout new or unfamiliar topics.

(I} A science teacher models the comreet procedures for performing eomplex
experiments before having students perform the experiments.

Trait of characteristic thal can assume more than onc value :

{A) Discrete datd (B) Unground data

(C) Population (D) Variable data

Mr.}iimﬂlcardﬁwingfrmnlmpmﬂdﬁﬁuingmhwl and got a certificate of

perfect driver in 13 days of leaning and examination. Mr X is able 1o drive his

car very confidently on highways and empty roads but he has little hesitation in

driving on busy streets. On the texonomy of psychomater domain, at what level

his driving skills can be safely placed 7

(#) lmitation (B} Precision

(C) Nuturalisstion (D) Manipulation

How will you epply principle of distributed practise while (raining students 1o

develop spesific set of motor skills 7

(A) Providing them frequent short periods of intense practise.

(B) Giving them mass practisc assignments =

(C) Developing ahility to perform one motor skill nﬂ'mti'-felrin:lnpmdﬂﬂnfﬁtﬁ
ability to perform over other motor skills.

(D) Mativating the students 10 learn independently and confidently.

M-1002-Comp. Sc. Engg./IT-A 20
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Process of measuring, evaluating, identifving and prescribing using result 1o

identify performance and problems. and then prescribing a solution :
(A)  Assessment (B} Evaluation

() Test (1) Measurement

Motor learning is a change, resulting from practice. Il often involves improving
the accuracy of movements both simple and complex as one's environment
changes. Motor learning is a relatively permanent skill as the capability 10 respond
appropriately is acquired and retained. The stages of motor leaming necessanly
involve :

(A) Cognitive phase, Motor phase and Affective phase

(B) Cognitive phase, Associative phase and Autonomous phase

(C) Motor phase, Associative phase and Affective phase

(D) Cognitive phase, Associative phase and Affective phase

Direct Instructional Model gives priority to :

(A) Critical Thinking (B) Global Leaming

(C) Analytical Thinking (D) Mastery Leaming

Bomains of performance are essential to be recognised to identify adequate
knowledge, skills and attitude to be developed among students. These knowledge,

<kills and artitudes are integrated in the curriculum document systematically. How
the domains of performance can be assessed 7

(A) ldentification of leaming elements

(B) Conducting job analysis survey -
(C) ldentification of performance indicators

(D) Conducting performance need survey
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A well-made outeome hased curriculum document essentially comprises of

{A] Syllabus, content and study references

(B) Content outline, instructional methods and experimentations

(C) Instructional strategies, leamning experiences and performance assessment
(D) Content outline, instructional stratepies and study references.

Leamning is meaningful if it is organized in such o way as to emphasize and call
for understanding, insight, initiative, and cooperation. When the leamer is capable
of gaining insight or understanding into the learning situation, then and only then
will learning take place. Meaningful learning is rellected in learner’s behaviour
by =

{A) Comprehending and memensation

(B) Organisation of learming elements

(C) Purposeful engagement und performarice

(D) Acquisition of desired knowledge. '

A type of diagram that is used to cluster complex apparently unrelated data into
natural and meaningful groups :

(A) Dogbone diagram ()  Affinity diagram

(C) Fishbone diagram (D) Natural Diagram

‘Positive reinforcement provides better learmning opportunities for the learners. This

can be achieved by :

(A) Providing stimulus and feedback

(B) Keeping strict observation

(C) Evaluaing reports on performance

(D) Ohserving md punishing for non-performance
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Part of the subproup of the given population in which every member has an cqual

chance of being included in the sample :
(A} Continuous daty (B) Ungrouped dota
(C) Grouped data (D) Random sample

CALL stands for :

(A) Compuier Ability in Language Leaming
(B} Computer Aided Language Lesrning
(') Computer Aided Linguistic Learner

(D) Computer Aided Lab Lesson

An ludustrial Management Teacher is introducing a long-tenm project with several

components. Students will be required to conduct research and interviews on a

seli-selected topic, write a report, and make an oral presentation. At this point in

instruction, the teacher can best promote all students’ 11I.1|i']i'q|.I to achieve the goals

of the project by using which of the following strategies 7

(A) Assigning students partners to provide support throughout the project and
scheduling repular times for the partners 1o meet

(B} Reassuring students that they possess all of the skills and abilities needed
to complete the project tasks

(C) Organizing project tasks in a step-by-step sequence and providing students
with directions and reminders for completing cach step

(D) Explaining to students how the objectives of the project fit into a larger
instructional plan.

Scaled replica of real objects are called : =~

(A) Realia (B) Mock-up
(C} Model (D) Replica
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students are most likely to be intrinsically motivated to leam and masier subject

matler when they :

(A) know that they will be tested on their understanding of the content in the
near future.

(B} believe that the work they are doing is interesting and relates to their own
lives.

(C) perceive that their performance compares favorably with that of peers engaged
in the same tasks:

(D) anticipate that they will receive positive reinforcement for nchieving
instructional objectives.

In which of the following situations is a teacher most clearly using reflection and

self-assessment 1o improve professional practice !

(A) A teacher reviews videolapes of his or her instruction with a more
experienced teacher 1o identify teaching sirengths and challenges.

(By A teacher asks another teacher 1o review his or her lesson plans prior 1o
instruction and provide feedback on planned activities and matersals.

(C) A teacher engages in co-teaching with a more experienced teacher when
introducing particularly challenging content 1o students.

() A teacher creates o comprehensive description of activities used during cach
grading period 1o submuil to the department chairpersomn. )

Case study cssentially helps in :

(&) Develop problem solving skills

(B} Develop higher order cognitive skills

(C) Simplifying complex concepls

(D) Understanding life issues

Rubrics are important tool of assessment that .

{A) Requires lntufu:nntnﬁmdupmmpurfmmaeﬁmmﬂ*
(B) Need to be cogtinuously revised il it becomes useful

(C) Helps faculty grade/score more accurately, fairly and relinbly
(D) Clarifies guality mpucmﬂummﬂtudmﬁabnulﬂm&ﬂm'puﬂmts
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